Warm-Up December 13, 2018

1. Find the root(s) of y = -3x2 - 6x + 2 NWO
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2, Find the%ertex ofy=2x2+5Xx-6
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3. Write the equation of the line in slope intercept
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6.) The larger leg of a right triangle is@3 centimeters)
longer than its smaller leg. The hypotenuse is

(6 centimeters longer than the smaller leg.

How many centimeters long is the smaller leg?
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Products of Consecutive Numbers

Consecutive: 1, 2, 3--> n, n+1, N+2

Consecutive Even: 2, 4, 6--> n, n+ 2, n+4 S\no_(‘s

Consecutive Odd: 7, 9, 11, --> n, n+2, n+4 c(n
[ ]

1. Theproduct]of two[negative| ~ oW
consecutive[integers(is)56. Find the
integers. NNt
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2. The product of two negative

consecutivelodd|integers is 99.
Find the integers.;"”m*&1
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You Try:

/Iﬁ'he product of two \
negative consecutive integers

is 42. Find the integers.
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2. The product of two positive
consecutive odd integers is
195. Find the integers.
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